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syegda-@t (WAF) / Draughtsman-B (Mechanical)

1. g1 & T&f e
The Turbo charger in an engine

(a) %oleT AT A U I arer d49s7 Y WAT F7 FT a7 ¥/ Reduces the amount of fuel
deltvered to the engine cylinder

(b) =T THIET # QU Sy arer $4= i AT #Y 92 3ar ¥/ Increases the amount of fuel
delivered to the engine cylinder

(© 33 A=t # & = areh gar AT F FH7 FT 2T ¥/ Reduces the amount of air
delivered to the engine cylinder

(d) Fo1T AT F & e arelt gar Fr AT Y @@l AT ¥/ Increases the amount of air
delivered to the engine cylinder

2. Wsﬂﬂaﬁ??ﬂﬁﬁqﬁﬂﬁﬂ?ﬁmmlﬂaﬁﬁw%ﬁm#%%ﬁ*mw
FH T @M AT §| ARG A Fars frash 87

A ladder of length 20m is kept inclined at an angle of 45 deg from the horizontal to reach top
of a building. What is the height of the building?

(a) 14.14m (b) 10 m
(c) 28.28m (d) 40 m

3. YFEFR @3 fAEH 3UENET agd & PAuw & ey w9 @ i F v e aar

The conical section which is used to represent Boyle's Law Graphically is

(a) aﬁ'{(ﬂ / Ellipse

(b) gea/ Circle
(c) WaelI/ Parabola
(d) IR JfAuEaa/ Rectangular Hyperbola

4. wﬁgmmﬁﬂ%ﬂaﬁtmaﬁm%sﬁaﬁmm(ﬁmma:mﬁgm
wha f3dem (MSD) f1 s ¥ AT diar @1 o’ waw awit & dEm § e ge W
o faafora far o g

Retrograde or backward reading Vernier scale is the scale constructed having
numbers of Main Scale Division (MSD) as the secondary scale (vernier) length, ‘n’ being the
number of equal parts to which Main Scale is divided

@ n-1 b n+1l
© n @ n+2
A 3 1496



aﬁagéaaﬁa?ﬁmma?ﬁmﬁmfaﬁwmﬁmm%?

Which method is used for Development of Wrapped surfaces?
(2) WHAHIG-YWT fAT / Parallel-line development

(b) 3IHIHAT faf&r / Approximation method

(c) FAFoReRor f4%HsT / Triangulation development

(d) IBue-aE AFHT/ Radial-line development

Waer g $ el FfE S "wFE ¥ G IR &, Feord ¥

The double ordinate of a Parabola which passes through the "Focus" is called
(a) @ew @EHA/ Latus Rectum (b) ©feHTHT / Abscissa

() TEFT/ Vertex (d) SrRfFeFT / Directrix

UF B T A 25 (+0.03/-0.00) B & & F ofenfia R T &1 Afde amwe & g
AR 0.01 A & 3w W wegar 0.02 B ¥ B R ave F i 3OFaA
AT B

A hole is defined as Dia 25 (+0.03/~0.00) mm. The mating shaft has a minimum clearance of
0.01mm and the tolerance on shaft is 0.02 mm. Maximum clearance between hole and shaft is

(a) 10 ABHIA / micron (b) 40 ATSHI / micron
(c) 60 3%/ micron (d) 50 ASHIT / micron

eRT o BT Foll & et F Fofaf@ea 7 & ia @ Fu w7 &2
Which of the following statement is true with respect to Type G feather key?

(@) T T T MeTHR =feaf / keys with both ends round
() El B W TR, aifeat B AR B & AT vF B N URS WS F A0/ keys

with both ends square with chamfer, and hole for one retaining screw

(¢ g B 9w gater @feuf !/ keys with both ends square
(d) S A W e wifaar et & T3 & URF F F AT/ keys with both enda

square with holes for two retaining screws
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9. A Ry sw Rufa awgar ufowa &

See the position tolerance representation given below

POSITIO

Yn

fCEU 7T GFRaT WOl & Ha9 H B F g o ART Fue (30,25) B wenfaT o 4w §
mmeaﬁmmWWaWuﬁmwﬁmﬁwmgo.lﬁ
Ry Weaar FEufd #1 qu Ra @

Nominal location of the centre of the hole with respect to the coordinate system shown is
(30,25). What is the possible location when both X and Y coordinate together varies maximum
on the positive side, meeting the required position tolerance of 0.1?

(@) 30.1, 25.1 (b)  30+0.05/42, 25+0.05/4/2

(¢) 30.05,25.05 (d) 299 24.9

10. 3m3e7, Har 3R Hegar F weHF F I9q FUA T 9gAeT F?
Identify the wrong statement with reference to limits, fits and tolerance?

(2) I fauee IHR & JWHIH AAT IR 30F @60 7T R F Gfiw Aeeiod

Hax &/ Upper deviation is the algebraic difference between the maximum limit of size
and its corresponding basic size

(b) Trgen fages HR A Fgear @ W 39F G640 7 ER & @ SFaford
AT &/ Lower deviation is the algebraic difference between the minimum limit of size
and its corresponding basic size

(c) Wl T FEE W HOFHaA R FyaaH neR @A & 91 #7 HA &/ Tolerance is the
difference between the maximum and minimum size limits on a part

(d) TETAT THFRTCHS, ARRICHS AT Y- g1 Gahell & / Tolerance may be positive, negative or
Zero

11. R & zig $r ared a9g, N9 967 § A9 3R TR F aa & dd9ad F7 g7 Jar §

Side surface of tooth of a Gear, below the pitch circle, and perpendicular to the plane of the
gear is called

(a) &I ® AW/ Tooth face (b) Sid & &FART/ Tooth flank
(¢) & FT FZ / Root of tooth (d) & 1 @r/ Crest of tooth
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12. aWt & ¥ FlF wr dASA s F FAE FE AT 82
Which of the two combinations performs the same function in AutoCAD?

(a) F9 3H/and Ctrl T (b) F83/and Ctrl L
(¢) F73R/and CtrlK () F53R/and CtriD

13. Ru v R & & &g F MY o237 # 390 yoR fe@mar ar §
Top view of a hole is shown in a drawing as follows
Ig Fa1 exien &2

{ @ T?ﬂ%‘?ﬁ“’
What does it indicate?

(a) I§ ST 7 Y &l H 3T 14 T BT & Ay P Far & / It indicates a dia 7 thru
hole with dia 14 spot facing

(b) IE UF BT 7 Y B F AT 14 F3X AR F WY AT AT &/ It indicates a dia 7
thru hole with a dia 14 counter bore

) T§ I T R Y AT WEN F WY UF FE FF g1 H SRIT HTT 8/ It indicates a
counter sunk hole with thru hole id of dia 7

() TE ST 7 F WY UF Y AT A NG AT § Foi el A s/ 14 ARR FIGENET
f&ar snar &/ It indicates a thru hole with dia 7 where dia 14 washer has to be used in

assembly
14. T RRw av R« &E
"Refer the figure below

L]

Yl
| Alr, )

e

X,

o ;
__________ ' B

ﬁ@mwmm*mﬁﬁgAaﬁT BQ’TW%TWWTZ(XLYQW X1,-Y)
& frker oM & s A AR R e g A% e BRI (r, o) B @ Reg B & i

Cartesian coordinate of Points A and B with respect to the coordinate system shown arc
(X1,Y1) and (X1,~Y1) respectively. If the polar coordinates of Point A w.r.t the coordinate system
shown is (¥, @), what is the polar coordinate of Point B?

(8 (r180-a) b ra
() (r,360-a) {d) (~r—o)
A 6 1496



15. U ufsrar #r &y sar §
Annealing process is carried out to

1. JiaRe gfdsel ¥ BCHRT T & AT/ Relieve the internal stresses

2. 4erd Hge % AT/ Soften the material

3. fawaer Fu@r & AAT &/ Produce heterogenous structure

(8) 1%ad/only (b)  2%ael/only

() 3&ad/only (d) 13f/and 2 &g/ only

16. UAISIESAYS Fifear A ARE AT F AT NDT doveiies &1 39T f6a1 a7 &
NDT technique used for measuring coating thickness of anodizaion is
(a) $a¥ 4T faf®r/ Eddy current method

(b) GEPrT IROT R/ Magnetic induction method
(¢) FHecrmifeie A/ Ultrasonic method
(d) EFﬁ'ﬁfaE fafer / Coulometric method

17. tw ARY # Awf@a affa 5kw g1 3 e Aex & aifF Za1ar 74.5% &, HP & 3517 &
qraY 3M3eYe AT H (1HP = 745W)

The power developed in a motor is 5kW. If the mechanical efficiency of a motor is 74.5%,
find the power output of engine in HP (1HP = 745W)

(a) 3HP (by 4HP
(c) 5HP (d) ©6HP

18. NURBS & 'N' &1 =T 3 2
What does ‘N’ stand for in NURBS?
(a) AT/ New : (b) &/ Non

(¢) WIPlA® / Natural (d) ¥Y=F/Null

19. V &4 &, o AFGR W V 3R # FH HIo7r ) gafeyd ga §72

In V Engines, the engines are arranged in V shape usually at an angle of
(a) 30° (b) 60°
(c) 45° (d) 90°

20. 54 fEevEEr fr afa B WMeAFs F T
Convert speed of 54 km/hr into m/s

(a) 54 m/s ) 30 mfs
() 194 m/s (d) 15 m/s
A 7 1496



21.

22.

23.

24.

25.

26.

27.

L = 2m, B = 3m, H =4m T o1 &1 Fel JSOT &TheT FT 87
What is the Total Surface Area of a Cuboid of L = 2m, B = 3m, H =4m?
(a) 24m? (b) 52 m?

(c) 48 m? (d) 18 m?

Ad FHITST T TP &

Area of A4 paper is
(a) 1m? (b) 1/8 m?
{¢c) 1/4m2 (d) 1/16 m?

tF W Y@ W} oE Rig gaRT seees o o Rl ged o sguel & IRt AR faen fEeE
AT ¢, FEART

The curve generated by a point on a straight line which rolls around a circle or polygon
without slip is called

(a) 3‘:‘-’@?{6 / Involute (b) EEFANEE/ Cycloid
() &fdeFa/ Helix (d) TSI / Spiral
Ry A = gAY T §

The isometric projection of a sphere is
(a) WH <TH & TH ded £/ is a circle of the same diameter

(b) R AW F TFH ged % /is a circle of smaller diameter
() ¥3 SO F TH Jed 2/ is a circle of larger diameter

d T ffé'cz}-_tf &/ is an ellipse

WQ@@WWWWWMWM%I

The development of the curved surface of a cone is a of a

(a) T, ool / sector, circle (b) W, god / segment, circle
() s, fﬁ'ﬁ}_’ﬁ/ segment, ellipse (d) d9, 9Wddd / arc, parabola

TR #§ O Y e R & 3uEe Aifee Bade @ e ¥ fov @8 By s 87

Which of the following letter symbol is not used to represent fundamental deviation?

(@ A ®» D

© Q (@ H

Ify fedr R W RS weaar fise 7@ &, a IS 2102 AWF (FEaH A3) VeI & IER,
6mmﬁm§mm*mﬁﬁwmﬁm——m—fﬁm(3ﬁmﬁ
wFAr Bl

If no tolerance is specified on a dimension, as per IS 2102 standard (medium grade)
tolerancing, an angle specified with shorter side length of 6 mm can have a tolerance of
minutes (max).

(a) 60 b)) 45
{c) 30 d 10
8 1496




28. Ify e 3R Bg A AW A B 71w 3+aR &
If the dimensions of a shaft and a hole are specified as below:
AMFC FT HFA IFR - 60 mm / Shaft basic size — 60 mm, 60 + 0.020 F & # ffdse /
specified as 60 + 0.020
¢ #T HA 3MFR — 60 mm / Hole basic size — 60mm, 60 + 0.005 F ¥ H AfEse / specified as

60 + 0.005

HTOFTH B FAT £? / What is the maximum allowance?
(a) 0.005 (b)  0.025
() 0.015 @ 0.020

29. U fET 257000 ¥ wq F AT AT §, FER A HVwaA @ FAT 52

A dimension indicated as 25*355% , What is the maximum limit of size?

(a) 25.008 (b) 24.995
{c) 25.080 (d) 25.005

30. UH FH GAHS H HaRw HoT gar §

The internal angle of a regular pentagon is
(a) 60° (b) 120°
(¢) 108° (d) 72

31, ¥ad RN ¥ deyw & P=faf@a & @ 9 a1 U= §eF 781 87

Which of the following statement is not true with regard to Bevel Gear?

(@) ¥ TR F IR e FRd F & Qe R S § a9 e AwEe o §
it ufaeddr A1 & / Bevel gears are used to transmit power when the shafts are

offset and non — intersecting

(b) ¥aE PR #, gid FFHER FAE W dAd € / In bevel gear, the teeth are formed on

conical surfaces
(©) e TR F1 399eT camEe &9 @ fRd o FI0F W v F Siew & fav B o

HFaT &/ Bevel gears may be used to connect shafts at practically any angle

) ¥ FRR A @Y @i T dad R 3R FoRe dad MR & w0 A gefiga B e
#FAT & / Bevel gears may be classified as straight teeth bevel gears and spiral bevel

gears

A 9 1496



32. aﬁmms@mﬂqﬁgg@s’wﬁﬁﬂﬁ@hﬁm@ﬁﬁ
If you drag and drop a drawing file into the window of an open drawing,
(a) TF A% 3 G A § TN qRsw F 390 & WO sEROT w0 W dOT F @y @r

oo wurfea e gufdia RFar ST FFar &/ A new drawing is opened which can be saved
with or without modification to a storage location for future use

(b) FET A HY VU F selicd Heh & & & 3@ ar 2/ The drawing is inserted as a
block reference to the work space

(c) WFCAW 30 UF 71§ FRIT & &7 #F WA T LT A ST TR W AF F 57 F e
& f@edt & forw w@&a &ar &/ The software will prompt for options to open it as a new
drawing or insert the drawing as block on to the drawing space

(d) mﬁgﬂﬁwmﬂ@ﬂﬁﬁaﬂ?mmﬂ'ﬁ@?ﬁ%lDraggingadrawing

on to the drawing area will not generate any action

33. wﬁ%mﬁf@aaﬁrcwm@wrwﬁmumm%,aTxa»’rRzamRaaa‘%iaa-‘rﬁea?aﬁ

If the equivalent resistance of the following circuit is Ri+X, Express X in terms of Rz and Rs

(a) Rzt+Rs (b) R2*Rs
(¢c) R:z*Rs/(R2+Ra) . (d) (R2+R3)/Ra*Ra

34. WITISH HedaT & GIU F Tord HUT H UYgaeT FI17?
Identify the wrong statement with respect to profile tolerance?

(a) WIWBA FeadT Rl ReToT & TU 7 BT &7 a5 & / Profile tolerance can control

the location of a feature

(b) WTHIFE TETar R oo ¥ AR 7 BElT 1 HEHAT & / Profile tolerance can

control the orientation of a feature

(c) WERe FEgar frdl weror F w7 & ey #T Thcl & / Profile tolerance can control

the form of a feature

) NEEE FEAar # o A B e Rl cafaeg gar w Rffse a8 Far o
HFHAT & / Profile tolerance cannot be specified to an individual surface without specifying
a datum
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35. U T &Y M24 x 2, 5H & ¥ # e frar amar &1 5w afRewsr & 2 3iic 5H g2riar &
A thread 1s defined as M24 x 2, 5H. In this definition 2 and 5H represents
(a) AU JAR® arr & A WX aggar A5/ Pitch and Tolerance grade of internal thread
respectively
(b) AW uEy Fr g AR IEWL / Pitch and Depth of thread respectively

(c) g ameT Fr wmAe: AT AW @Eaar AT/ Pitch and Tolerance grade of external thread
respectively

(d) waer: T 3R 4t i FSREAr/ Pitch and thread hardness respectively

36. & @ A T F T 3HeX wsaw N1 fthe Fa a10r &h ¢ P Fgl AT &
A lock nut with a fiber ring fitted inside to avoid loosening is called

(a) $¥o A¢/ Castle nut (b) Wi AT/ Sawn nut
(¢) TAHEE & &id Ac/Simmond’s lock nut (d) A& & &TF A</ Wile’s lock nut

37. HaRF gt ar gzl # e F AU 9d e A 9 R T4 vE ST IS S

A small pipe threaded through out on the outside, used for connecting pipes having internal
threads is called

(a) F9IAT/ Coupler (b)  YfAGA SF / Union joint
(¢ T / Plug (d) fA9er / Nipple

38. Aol 3 FAEIR foepa oftoyr & waw & Refaf@a & ¥ #9 a1 Fu7 weg 79

Which of the following statement is not true with respect to series and parallel electric
circuits?

(a) Aot AT v Iy ﬁg?:ﬁ' YT €T @AW & / The current is the same at all points on a
series connection

(b) TAMCR FAFUA H GAF TC&H Hl AW dleeol H JGRF H Ik &/ In a parallel

connection every component is supplied with the same voltage

) wWWm#@WMWW%W%mM%fIna

parallel connection the total current is equal to the sum of all the individual currents

(d) 9ANYT F AR G H1 Fol qaQY eaqfFaara wiaQet & alr & s §/ The

total resistance of a parallel combination of resistors is equal to the sum of the individual
resistances

39, 15:813-1986 & AR, S fEWRT 7141 4¢3 # A welrh g §
As per [5:813-1986, the basic symbol of weld shown below represents

(n) 34« U &¢ 93/ Double U Butt weld (b) 3§ V §€ 3¢5/ Double V Butt weld
(¢) 3Zad J &€ d¢g / Double J Butt weld (d) & 83 §¢ de3/ Double Bevel butt weld
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40.

41.

42,

43.

44,

45.

frfafea & ¥ #lF o vs g g a8 2

Which one of the following is not a bearing material?

(a) e YU / White metal (b)  CFeAisT / Teflon
(c) FTar &gl / Cast iron @ U< ng-ﬂﬁm/ Pure Aluminium

FYT A T B TR YA HlaT A 82
What is the smallest storage unit in the computer?

(a) #aY §18¢/ Nano Byte (b) <IEC/Byte
(¢) T¥T/Bit (dy f&ar ase/ Kilo Byte

Ffaf@a @Ry & Fa yawR fr o QT a1 cafar o §2

What type of rivet failure is represented in the following sketch?

@~ —-—

(a) € & AT/ Tearing of plate (b) AT F FIEUYT/ Shearing of plate
(c) ®A® F FEA / Crushing of rivet  (d)  HIeF P JIRYUT/ Shearing of rivet

Froit fr St 3R AR F R{e w oReg A9 39T §
A precision measuring instrument for checking and setting of angles is
(a) HFIH/ Compass (b) ST WaeT/ Bevel protractor

(¢) 3 A/ Height gauge (d) WS T/ Sine bar

'™ G B TF T T G alfas Fag W R g3 &1 At wdor o e §, d awd
FI &fdsT 9o W A T F AU auF JAdA a6 §

An object of mass 'm' rests on a rough horizontal surface. If the angle of friction is '0", the
minimum force required to move the object along the horizontal plane is

{(a) mgsinB (b) mgcosO

{¢) mgtan® (d mgcotd

U 'h' & UF oF AR SN AT FT ICAHEOT g FEAUR 6T F A Ay I 36
YR ———— R gy W 3§

The centre of gravity of a right circular solid cone of height 'h' is at a distance of ——
from its base, measured along the vertical axis.

(a) he6 () hi4
(¢ W3 (d b2
12 1496




46.

47.

48.

49.

50.

51.

52.

ag Rig SET 358 %A AW U] & Al §, e §
The point where the weld face joins the parent metal is called
(a) ®e 39/ Root gap (b) o8 T &I/ Toe of weld

() IS %d/ Fusion face (d) des FFI/ Weld junction

Prfafaa & 9 s & ol s=afts gy 87
Which one of the following materials is highly elastic?
(a) T&T/Rubber (by WTH/ Brass

(c) ¥IoT/ Steel (d) JaTH/Glass

3¢ 9T qETT gar oena & few fRer Simer g
Dye penetrant test is conducted to locate
(a) FR Y/ core defects (b) HIE a/ surface defects

() g KT 29/ superficial defects (d) 33Uy &9/ temporary defects
v el goTeh e v Fele-RdEe i sreer-aveer afd & Iomar S Ehan §

A pulley system in which a machine - spindle can be driven at different speeds is
(a) C.I ¥¢Z Yoll / belt pulleys

(b) ¥NF FIT AT TS Yol /Speed Cones or Stepped Pulleys
(c) TEET el / Rope Pulleys
(d) V- e el / belt Pulleys

Pt HT A5¢ FFT ‘TS AT HF IHART FAT £7
Which belt drive uses ‘Guide Pulleys'?
(a) HIA-d¢< 3134/ Cross-Belt Drive (b) 39S "¢ T/ Open Belt Drive

©) WEER =15 / Stepped Drive )  WHHIOT 324/ Right Angled Drive

V' Yo FT HIG-UFAH TTHIT SF AP @l 1T ¢

The cross-section of a ‘V’ Belt is shaped roughly like a
(a) @&/ Circle (b)y EIfFFF / Trapezium
© ﬁ'ﬁin { Triangle (d) T/ Square

U R #, O a%d o i 9y g oers F aidl i e g &

In a gear, the number of teeth per unit length of a pitch circle diameter is

(a) = 49/ Diametral Pitch (b) Fecrd =/ Circular Pitch
(c) AT = / Module Pitch (@) el =/ Chordal Pitch
13 1496




53.

54.

55.

56.

57.

58.

e 40 afelt a1y Ty 1 R wE <A 200 mm ¥, @ Agge R §
If a Gear with 40 teeth has pitch circle diameter 200 mm, the Module pitch is
(a) 15.7 {b) 5

(c) 02 (d) 18.84
mﬁm'r'aﬁtm'h'ammma@wm
Volume of a solid cone with base radius ' & height ‘b’

(a) 1/3nrch (b) 4/3nrth
(¢ =nr*h (d) 4/3nrd

3Nk WiTcaw & ivde FAE & wiEe g &
In AutoCAD software, abbreviation for Offset command is

(a) OFF (b} SET
() 08 @ O

w9 e & v gER W wRE e @ v B @ 22

Which is the symbol representing a Reducer for pipe fittings?

© O ©

© T @ I
Ll—— S .

mmﬁmmwmmm-vema;maamﬁmnm%
In AutoCAD software, while using Rotate command, direction for rotation for —ve angle is

(a) EfEYoTET E‘I\U‘iﬁl Clockwise Rotation

(b) FET TfX FT AT /.Direction of cursor movement

(¢ aFAEd E[\Ui?l'/ Counter clockwise Rotation

{d) E]\'Ui?r #r ﬂ*ﬂ'é IGIECGREL 78T / No fixed direction of rotation

wﬁsﬁ.‘w%ﬁmw*ﬁgﬁamﬁgaawwmmﬁﬁkwﬂﬁwm
BT 87

In Pipe fittings, which type of Joint uses: two external threaded nuts, one coupler nut and
packing ring

(a) = &gr AT e A/ Cast iron flanged joint

(b) gEIAF 9T ST / Hydraulic Pipe Joint
{(c) '{I\ﬁ'&'c‘-l' 3i1g / Union joint
(@) iz T fRyame = / Socket and spigot joint
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59. T TFCIH 01 H UgaT TIF FleT AT gar &7

Which is the first stroke in a four stroke engine?
(a) 9rER ¥IF / Power Stroke (b) A% 1% / Exhaust Stroke

(¢) TFAT TIF / Suction Stroke (dy ANEA IZIF / Compression Stroke

60. 3EIFE A, “RAY” FHHIZ FIT FLal £?
In AUTOCAD, what does “RAY” command do?
(a) #loper a3l @ U WAT FT FAAOT AT §/ Constructs a boundary from existing objects

(b) 3k g uT efeTer HIAT &/ Toggles to arc mode
() UH @ & UF 31d WA §=91aT &/ Creates an infinite line in one direction
(d) TR ool & v+ Hisowe & TOdF &7 T WY BHIAT 3T T &/ Each object in an

array can be manipulated independently

61. A4x 3% F7 # AT AV ol S@em & FETaT F HHN B

Size of Special Elongated series paper Designated as Ad x 3 is
(a) 210 x 297 (b) 297 x 630
(¢) 420 x 594 (d 330 x 450

62. ged T FIW FH SiaT
The longest chord of the circle is
(a) <A/ Diameter (b) BT/ Radius

() TTNW@T/ Tangent (d) AFET/ Sector

63. S UH oFd Jodli AF I T F AFad T THAA AR HIeT S 8, o Y a6 aoiar & a8 §

When a right circular cone is cut by a plane, perpendicular to the axis, the curve formed is

(a) ﬁrﬂﬂﬁr / Ellipse ° (b)  Ted/ Circle
(¢) YT f Parabola (d) 3fawaed / Hyperbola

64. I FT W@ WU dd & AT & ar SHFHT T&I9oT gRm

If a line is parallel to the plane of projection, it's projection will be
(a) Y@T T FEF F FART/ same length as that of the line

(b) Y@ A TEAfdF #4S § BT/ smaller than the actual length of the line
() U fa‘rg/ a point
(d) TS T FIEAAF FdGE W HYF / greater than the actual length of the line
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65.

66,

67.

68.

69.

70.

mﬁmmﬁwmﬁmmmmmmwaﬁm
The length of a line in isometric projection is ————— times of its true length.

(a) 05 ® 0.815

(c) 144 d 075

«

s

g% gfeer doot TROR® w0 & frusr wiafftee &= & fiw 3999 frar sar &2

This hatching pattern is conventionally used for representing what?
(a) e / Glass (b) YR/ Water

(¢) I/ Concrete (d) FFE/ Wood

1S WHETG PSR Gerehl aTel S Fgeam &
A solid having eight equilateral triangular faces is called a
(a) s/ Cube (b) TR / Tetrahedron

(c) &FHRET / Hexahedron (d)  3TFRRE / Octahedron

a7 AT fag oW W AUfdE & @l Ty Beohe wos S &, wEenr @
The common point at which all the slant triangular faces of a pyramid joins is called

(a) UAFH/ Apex by  gEFT/ Vertex
(c) WIEY/ Foci (d) F9H § P LT/ None of these

& WA HIQH Boeh! arel Sgherd Fgeem §
A polyhedron having two identical end faces is called
(a) %i'tfl Cone ®  SH/ Prism

(¢) 2¢es¥T / Tetrahedron (d) A/ Pyramid

fore aqelst # TRt sond B g @ Faer & et WA g, 3§ aqsle e §

A quadrilateral where all the four sides are different and only two sides are parallel is called

(a) THGT ﬂT:T,ﬁ_EI:GfIParallelogram (b) V¥EF/ Rhombus
(© mlTrapezoid (d) AfFAH/ Trapezium
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71. Nrafenfeer eeg & 3ivedf wv wF ®
In the term orthographic, 'ortho’ means
(a) 31S9/Drawing (b) W/ Straight

(&) WE9OT/ Projection d) T/ View

72. Tam=faf@a safEdy aegar fe ot §

The following geometric tolerance symbol signifies

AR

(a) W9/ Straightness

(b) T Y@ & NHEH / Profile of a line
() Hdg Fr WIESH / Profile of a surface
(d) TS/ Roundness

73. T T & P, W F 3R F ea= F 7 @ g, e ‘o & TH F Tt & 9o W
#r Aerg o sl @

For drawing purpose, irrespective of shape of head, bolt head thickness in terms of the
diameter of the shank ‘d’ is taken

(@ 1d ® 0.8d
(¢ 05d d 124

7. S ART N B AT S R A dRa R & sRMsaa R P FEE & §
In riveting row pitch for chain riveting and zig-zag riveting, in terms of maximum pitch ‘P’ are
(a) WHHAA: 0.6P 3T 0.8P 7 0.6P and 0.8P respectively

(b) FHHM: 0.8P 3R 0.6P/0.8P and 0.6P respectively
(c) AW 1P 3 0.8P/ 1P and 0.8P respectively
(d) HM: 0.8P 31 1 P/0.8P and 1 P respectively

75. UFHA Y g¢ g H, WA gA arell coiet Hr Al 't F dge¥ F FaT cac AT I H
e &

In a single strap butt joint, the thickness of cover plate or strap in terms of thickness ‘t’ of the
plates being joined is

(a) t b 12t
(0 1.125t (d 1.25t
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76 WWE{{T(BIS)ISAMSaﬁmméw’ﬁvmmaia@(ﬁ?ﬁ)ﬁﬁmﬁﬁr

&1 ST &2

What type of threads is recommended for use by Bureau of Indian Standards (BIS) IS:42187
(2) #fgaF II / Metric thread (b) BSW

() ASME (d) DIN

77. T JeeeR A ok St R X g2 @it § qwr d F arer s grar 2, awarar @

A cylindrical shank having threads on both ends, with the plain portion in between is called
(a) @ BFh / Set Screw

(b) 33T AT/ Foundation bolt
(c) Ws/ Stud
d & die< / Hook bolt

78. ﬁmm%mﬁyﬁmwmmﬁaﬁaﬁmmh
Which type of nut is operated using a hook spanner?

(a) TP 7/ Square nut

(b) #H9EHA AT/ Capstan nut

(c) ?{':IHEETT &9 A / Domed Cap nut
(d) IR 7€/ Collared nut

79, mmﬁﬂ%ﬂm%

Reading accuracy of a steel rule is
(a) O0.lcm (b) 0.05cm
(¢ 1lcm (d 0.5cm

80. 't Hler§ H RdT FET WT & WA W mm 3 R war ¥

Nominal Diameter of a rivet connecting plate of thickness 't' in mm is given by

(@) 64t (b)  4.05v7
© 1.9 @ 15t
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